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CLASSIFICATION OF ELEMENTS-THE PERIODIC TABLES

1. What are the limitations of MendeleeVv’s periodic table ? How could the

modern periodic table overcome the limitations of MendeleeV’s table?

° Watch Video Solution

2. Define the mordern periodic law . Discuss the construction of the long

form of the periodic table .

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BPCqhP7ax1rK
https://dl.doubtnut.com/l/_7eicStixoR79

3. What are the essential features of the periodic table of Mendeleev?

Discuss how his table has been modified subsequently.

° Watch Video Solution

4. Explain how the elements are classified into S. p .d and f- block
elements in the periodic table and give the advantage of this kind of

classification .

° Watch Video Solution

5. Write down the characteristics of the element having atomic number

- o Fow o mommmm ey

Electronic configuration
Period number
Group number
Element family
No. of valence electrons

Valency
17 Metal or Non-metal

° Watch Video Solution



https://dl.doubtnut.com/l/_7eicStixoR79
https://dl.doubtnut.com/l/_IGY2rnn4qgDA
https://dl.doubtnut.com/l/_Yoe8MRIGNfU4
https://dl.doubtnut.com/l/_NYU8kpyWmrkJ
https://dl.doubtnut.com/l/_bzkzVA2n0xv1

6. Complete the

following table

using the periodic

Period: | Filling up orbitals | Maximum number of - | Total ho. of elements
number| (subshells) electrons, filled in all i the pericd
the sub shells.

1 is 2 2

2 2s, 2p 8 -]

3 |3 3p BE 8

4 4s, 3d, 4p 18 iB

5 Ss, 4d, Sp 18 18

6 |6s, 4f 5d, 6p 3z 32

7 78, 5f, 6d, 7p 32 Incomplata

table.

o Watch Video Solution

7. Complete the following table using the periodic table .

| Period Total no.of

|
| number elements

Elements

From

Total no. of elements in
To s-block p~block71 d-block P-block

o Watch Video Solution



https://dl.doubtnut.com/l/_bzkzVA2n0xv1
https://dl.doubtnut.com/l/_2awRYGprg9ez

8. Given below is the electronic configuration of elements A, B, C, D : (A)
15225, (B)1s%25°2p°3s?, (C)15%2522p°35?3p>, (D)1525°2p% , Which are

the elements coming within the same period?

° Watch Video Solution

9. Given below is the electronic configuration of elements AB,C,D: (A)
15225, (B)1s%25°2p°3s?, (C)15%2522p°35?3p>, (D)1525°2p%, Which are

the ones coming within the same group?

° Watch Video Solution

10. Given below is the electronic configuration of elements AB,CD:
(A)1s%2s2, (B)1s%2522p°3s2, (C)15°25*2p%3523p%, (D)15%2522p°, Which

are the noble gas elements?

° Watch Video Solution



https://dl.doubtnut.com/l/_vTjrM9edBh8R
https://dl.doubtnut.com/l/_hgVkIV8kWGNI
https://dl.doubtnut.com/l/_PCWspwLkxlX4
https://dl.doubtnut.com/l/_JqM0mxmCzJDM

1. Given below is the electronic configuration of elements AB,CD:
(A)1s%2s?, (B)1s%2522p%3s2, (C)15°2522p°3s23p%, (D)15%2522p°, To

which group and period does the element 'C’ belong?

° Watch Video Solution

12. 15%2s% is the electronic configuration of which element?

° Watch Video Solution

13. What is valency of 15225%2p%3s% ?

° Watch Video Solution

14. Which pair of elements belongs to the same group ? (atomic numbers

are given)

° Watch Video Solution



https://dl.doubtnut.com/l/_JqM0mxmCzJDM
https://dl.doubtnut.com/l/_hyFQVl0VFYND
https://dl.doubtnut.com/l/_zdszsZc0Smjx
https://dl.doubtnut.com/l/_zOTr2LjUjtPx

15. To which group and period does the element 'D' belong ?

° Watch Video Solution

16. S- block and p - block elements except 18 th group elements are
sometimes called as 'Representative elements based on their abundant

avilability in the nature . Is it justifed ? Why ?

° Watch Video Solution

17. The electronic configuration of the elements, X, Y and Z are given
below. A) X=2, B) Y=2,6, C) Z=2,8,3, Which element belongs to second

group?

° Watch Video Solution



https://dl.doubtnut.com/l/_U4d6mSz0YphT
https://dl.doubtnut.com/l/_tU4l4X0VPxHv
https://dl.doubtnut.com/l/_MQyPeVzALBit

18. The electronic configuration of the elements X , Y, and Z are given
below .
a)X=2b)Y=26c)Z=28,2

which element belongs to second period ?

o Watch Video Solution

19. The electronic configuration of the elements, X, Y and Z are given
below. A) X=2, B) Y=2,6, C) Z=2,8,3, Which element belongs to second

group?

o Watch Video Solution

20. State the number of valence electrons , the group number and the

period number of each element given in the following table :


https://dl.doubtnut.com/l/_kODnndf39Bp8
https://dl.doubtnut.com/l/_pIocuQi60MKA
https://dl.doubtnut.com/l/_LVSvPTvN1JKe

Element Valence electrons | Group l{ﬁ;lbg!: | Period numi)eﬁ
Sulphur ! |
Oxygen | | J
Magnesium

|
1
|
|
T

Hydrogen
Fluorine
Aluminium

° Watch Video Solution

21. State whether the following elements belong to a Group (G ) , Period

(P) neither Group nor period (N) .

ms Aj 777"77&“’“‘) | Period | Neither Grp\ipﬁnorApgriog

Li, C, O o S
Mg Ca.Ba | S
Br, CLF i -~ S

o Watch Video Solution

22. Identify the element that has the larger atomic radius in each pair of
the following and mark it with a symol .

(1) Mg or Ca (ii ) Li or Cs (iii ) N or P (iv) B or Al


https://dl.doubtnut.com/l/_LVSvPTvN1JKe
https://dl.doubtnut.com/l/_wcRbu5D5wR6U
https://dl.doubtnut.com/l/_4UiwPzqFUcse

° Watch Video Solution

23. Identify the elements that has the lower ionization energy in each pair
of the following and mark it with a symol .

(i) Mg or Na (ii) Li or O (iii) Bror F (iv) Kor Br

° Watch Video Solution

24.How does metallic character change when we move

Down a group ?

° Watch Video Solution

25. How does metallic character change when we move

Down a group ?

° Watch Video Solution



https://dl.doubtnut.com/l/_4UiwPzqFUcse
https://dl.doubtnut.com/l/_tU83TYKecqwf
https://dl.doubtnut.com/l/_uWEFvN865ZiR
https://dl.doubtnut.com/l/_xlcUgO6EmG37
https://dl.doubtnut.com/l/_n1J1QqUflrLz

26. On the basis of atomic numbers predict to which block the elements

with atomic number 9,37 46 and 64 belongs to ?

° Watch Video Solution

27. Using the periodic table , predict the formula of compound formed

between element x group 13 and another element Y of group 16 .

° Watch Video Solution

28. An element has atomic number 19. where would you expect this

element in the periodic table and Why ?

° Watch Video Solution

29. How do the positions of elements in the periodic table help you to

predict its chemical properties ? Explain with and example .

| ° Wiak A \tdAaAaA CAlLiikiAan



https://dl.doubtnut.com/l/_n1J1QqUflrLz
https://dl.doubtnut.com/l/_EH1mV30ltQRd
https://dl.doubtnut.com/l/_ltOLzdRrsvny
https://dl.doubtnut.com/l/_xgabZsEousHz
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30. In period 2 element X is to the right of element Y. Then , find which of
the element have :

Low nuclear charge

° Watch Video Solution

31.In period 2 element X is to the right of element Y. Then , find which of
the element have :

Low atomic size

° Watch Video Solution

32.1n period 2 element X is to the right of element Y. Then , find which of
the element have:

High ionization energy

° Watch Video Solution



https://dl.doubtnut.com/l/_xgabZsEousHz
https://dl.doubtnut.com/l/_ejHlrlNMojiG
https://dl.doubtnut.com/l/_NOSeZueOWd0n
https://dl.doubtnut.com/l/_51uS7dKA979N

33.In period 2 element X is to the right of element Y. Then , find which of
the element have :

High electronegativity

° Watch Video Solution

34.In period 2 element X is to the right of element Y. Then , find which of
the element have :

More metallic character

° Watch Video Solution

35. Number of elements present in period - 2 of the long form periodic

B.8


https://dl.doubtnut.com/l/_51uS7dKA979N
https://dl.doubtnut.com/l/_6F170MlGjTv8
https://dl.doubtnut.com/l/_UvtUlFpP2Wm8
https://dl.doubtnut.com/l/_l2UkbRfJUZzJ

D. 32

Answer:

° Watch Video Solution

36. Nitrogen (Z=7) is the element of group V of the periodic table. Which

of the following is the atomic number of the next element in the group ?

A9

B.14

D.17

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_l2UkbRfJUZzJ
https://dl.doubtnut.com/l/_7FVIIZFg1NO7
https://dl.doubtnut.com/l/_9L0UIViKpuMQ

37. Electonic configuration of an atom is 2,8,7, . To which of the following

elements would would it be chemically similar ?

A. nitrogen (Z=7)

B. fluorine (Z =9)

C. phosphorus (Z - 15)

D. argon (Z - 18)

Answer:

o Watch Video Solution

38. Which of the following is the most active metal ?

A. lithium

B. sodium

C. potassium

D. rubidium


https://dl.doubtnut.com/l/_9L0UIViKpuMQ
https://dl.doubtnut.com/l/_oNIxgw6qtqyv

Answer:

° Watch Video Solution

39. Aluminium does not react with water at room temperature but reacts
with both dil . Hcl and NaOH solutions . Verify these statements
experimentally . Write your observation with chemiscal equation , From

these observations , can we concluds that Al is a metalloid ?

° Watch Video Solution

40. How can you explain Aluminium (Al) is a metalloid with chemical

equations ?

o Watch Video Solution

41. What relation about elements did dobereiner want to establish ?

| o Watch Video Solution


https://dl.doubtnut.com/l/_oNIxgw6qtqyv
https://dl.doubtnut.com/l/_2t8EjHlGZoEq
https://dl.doubtnut.com/l/_1vk71JHoApvV
https://dl.doubtnut.com/l/_qXgHC4YxcYeD

42. The densities of calcium (ca ) and barium (Ba ) are 1.55 and 3.51 g

cm 3 respectively based on Dobereiner's law of triads , can you give the

approximate density of strotium (Sr) ?

° Watch Video Solution

43. All akali metals are solids but hydrogen is a gas with diatomic
molecules . Do you justify the inclusion of hydrogen in first group with

alkali metals ?

o Watch Video Solution

44. IF lanthanides and actinides are inserted within the table . Imagine

how the table would be ?

o Watch Video Solution



https://dl.doubtnut.com/l/_qXgHC4YxcYeD
https://dl.doubtnut.com/l/_Zs56GGefYzZt
https://dl.doubtnut.com/l/_jms1bfMWsGMK
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https://dl.doubtnut.com/l/_Oet5FT4JgA57

45. Do you know why Newlands proposed the law of octaves ? Explain

your answer in terms of the modern structure of the atom .

o Watch Video Solution

46. Why did Mendeleeff had to leave certain blank spaces in his periodic

table ? What is your explanation for this ?

° Watch Video Solution

47.What is your understanding about Eas03, EsO, ?

o Watch Video Solution

48. Second ionization energy of an element is higher than its first

ionization energy Why ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Oet5FT4JgA57
https://dl.doubtnut.com/l/_h2Yp67XI8O11
https://dl.doubtnut.com/l/_kkdD9szUwAci
https://dl.doubtnut.com/l/_Y9ry5uCSadBP

49. The calculated electron gain enthaly values for alkaline earth metals

and noble gases are positive . How can you explain this ?

° Watch Video Solution

50. Do you think Newland's law of octaves is correct ? Justify .

° Watch Video Solution

51. Why are lanthanides and actinides placed separately at the bottom of

the periodic table ?

o Watch Video Solution

52. The second period element , for example , for example 'F' has less
electron gain enthyalpy than the third period element of the same group

of example'Cl' . Why ?


https://dl.doubtnut.com/l/_Y9ry5uCSadBP
https://dl.doubtnut.com/l/_geqNKboYsDc9
https://dl.doubtnut.com/l/_X6WCCTXGzhcI
https://dl.doubtnut.com/l/_hj84qyhX5Fdb
https://dl.doubtnut.com/l/_ymFYNjt3Abxm

° Watch Video Solution

53. Observe the following table and Fill it .

Group Elements and their Atomic weight Arithmetic mean
1* and 3™ eleme:
Atomic weight 3
i

|

) ) | 7.0+39.0 Coa)
A | Lithium (Li) Sodium (Na) | Potassium (K) s = 23.0=23 !
7.0 23.0 | 39.0 ‘
B Calcium (Ca) Strontium(Sr} =~ Barium (Ba) 1 ﬂﬂ = 88.5 ~ 87.5
\ 40.0 87.5 | 1370 |
[ C | Chlorine (Cl) Bromine (Br) lodine (I) ‘ 35.5+127.0 _ g 25
1 35.5 80.0 1270 | 2 ~80
D | Sulphur (S) Selenium (Sc) Tellurium (Te) ‘ 372:—1353 =785=78
32.0 | 780 | 1250 | 2
E | Manganese(Mn}| Chromium(Cr) } Iron (Fe) | 55.0 +56.0 =55.5=52
55.0 52.0 | 56.0 l 2

Observations :

Can you establish the same relationship with the set of elements given in

the remaining rows ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ymFYNjt3Abxm
https://dl.doubtnut.com/l/_vfMETo5QohE5

54. Observe the following table and Fill it .

Potassium (K) ;

23.0 39.0 ;
| Strontium(Sr) | Barium (Ba) | -

875 137.0
Bromine (Br) Iodine (I)
80.0 :
Selenium (Se)

Observations :
Find average atomic weights of the first and third elements in each row

and compare it with the atomic weight of the middle element.

o Watch Video Solution

55. What is atomic number ?

o Watch Video Solution



https://dl.doubtnut.com/l/_5BmxPd17t4Y4
https://dl.doubtnut.com/l/_DoDYZGc8aROM

56. Consider the following elements of third period of modern periodic
table :

Period III elements Na Mg Al Si P S Cl Ne
Atomic number 1 12 13 14 15 16 17 18

How does valency very in a period on going from left to right ?

o Watch Video Solution

57. How does the valency vary on going down a group ?

o Watch Video Solution

58. DO the atom of an element and its ion have same size ?

o Watch Video Solution

59. Imagine , which one in each of the following pairs is large in size

relatively with other ? Explain .


https://dl.doubtnut.com/l/_76CiCpXYugMW
https://dl.doubtnut.com/l/_XNh8EwCIVzA2
https://dl.doubtnut.com/l/_KrwBG8RHiVBY
https://dl.doubtnut.com/l/_O5KKCJSagq7R

(X ) Na,Al

° Watch Video Solution

60. Imagine , which one in each of the following pairs is large in size
relatively with other ? Explain .

(Y)Na,Mg "2

° Watch Video Solution

61. Which one in each of the following pairs is larger in size? S*~,Cl ™.

° Watch Video Solution

62. Which one in each of the following pairs is larger in size ?

(a)

Na, Al (b)Na, Mg™%* (C)S*,Cl™ (d)Fe*T  Fe3™  (e)C*~

° Watch Video Solution



https://dl.doubtnut.com/l/_O5KKCJSagq7R
https://dl.doubtnut.com/l/_yJNbxEoWaqw2
https://dl.doubtnut.com/l/_KSaVz8ZWYtvx
https://dl.doubtnut.com/l/_ru3IXpfy5ddx

63. Which one in each of the following pairs is larger in size? ci F.

° Watch Video Solution

64. Which one between Na and Na ™ would have more size ?

° Watch Video Solution

65. Which one between Cl and C1~ would have more size ? Why ?

° Watch Video Solution

66. A and B are two elements . The compound formed with A and B is

Ay, B.What are the valencies of Aand B .

° Watch Video Solution



https://dl.doubtnut.com/l/_ru3IXpfy5ddx
https://dl.doubtnut.com/l/_wXc1AW6iL94O
https://dl.doubtnut.com/l/_iKGpsvXVHMGF
https://dl.doubtnut.com/l/_hHufpVoZVc43
https://dl.doubtnut.com/l/_t24i7R8OSGlZ
https://dl.doubtnut.com/l/_w5P5UpWLEdeT

67. The Atomic number of an element is 35 where would you expect the

position of this element in the periodic table ? Why ?

o Watch Video Solution

68. Why were Dobereiner , Newlands and Mendeleeff not 100 % successful
in their classfication of elements ? Why is the modern table table

relatively a better classification ? Predict the reason .

o Watch Video Solution

69. Two elements X and Y belong to Groups 1 and 2 respectively in the
same period of the periodic Table .Compare these elements with respect
to:

Number of electrons in their outermost orbit .

o Watch Video Solution



https://dl.doubtnut.com/l/_w5P5UpWLEdeT
https://dl.doubtnut.com/l/_JwhZiIjKvCmH
https://dl.doubtnut.com/l/_PnZZTGSbWjxr
https://dl.doubtnut.com/l/_vWlX5BwcAvPp

70. Two elements X and Y belong to Groups 1 and 2 respectively in the
same period of the periodic Table .Compare these elements with respect
to:

Their atomic size and their valancies .

o Watch Video Solution

71. Two elements X and Y belong to Groups 1 and 2 respectively in the
same period of the periodic Table .Compare these elements with respect
to:

their ionisation energy and metallic character .

o Watch Video Solution

72. Two elements X and Y belong to Groups 1 and 2 respectively in the
same period of the periodic Table .Compare these elements with respect
to:

Formula of their chlorides and sulphates .

e l


https://dl.doubtnut.com/l/_vWlX5BwcAvPp
https://dl.doubtnut.com/l/_YFlYawD6WKfa
https://dl.doubtnut.com/l/_KMB1gq2imcCG
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73. Explain three factors which influence the electron affinity (Electron

Gain Enthalpy)

° Watch Video Solution

74. How are the elements arranged into groups and periods in the
modern periodic Table ? Elements in a group posses similar properties ,

but elements in a period do not show similarites in their properties . Why

?

° Watch Video Solution

75. Write the factors that influence ionization energy and Explain any

three of them .

° Watch Video Solution



https://dl.doubtnut.com/l/_KMB1gq2imcCG
https://dl.doubtnut.com/l/_je2uM3NrSQYS
https://dl.doubtnut.com/l/_Jduk1TRfDLZg
https://dl.doubtnut.com/l/_mT6E7KEOAMZZ
https://dl.doubtnut.com/l/_z3tq9pDKlY0D

76. Define ' element ' according ot boyle .

° Watch Video Solution

77. State law of triads .

° Watch Video Solution

78. What are the limitations of Dobereiner's law to triads ?

° Watch Video Solution

79. State the law of octaves .

° Watch Video Solution

80. what are the limitations for Newlands' law of octaves ?


https://dl.doubtnut.com/l/_z3tq9pDKlY0D
https://dl.doubtnut.com/l/_WPe3QanK1Y7l
https://dl.doubtnut.com/l/_gorR3Gxdt0CR
https://dl.doubtnut.com/l/_acwHQo5F4lZW
https://dl.doubtnut.com/l/_GVBB0jeJc4av

° Watch Video Solution

81. State the periodic law proposed by mendeleeff.

° Watch Video Solution

82. What are the limitations of mendeleeff's periodic table ?

° Watch Video Solution

83. What is atomic number ?

° Watch Video Solution

84. Write modern periodic law .

° Watch Video Solution



https://dl.doubtnut.com/l/_GVBB0jeJc4av
https://dl.doubtnut.com/l/_8XvR4IJjD7tK
https://dl.doubtnut.com/l/_zHeUWwzGEYPQ
https://dl.doubtnut.com/l/_V6lP67Rc7ZdX
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85.What is a group?

° Watch Video Solution

86. How is a period formed?

° Watch Video Solution

87. Which elements are called lanthanides ?

° Watch Video Solution

88. Which elements are called actinides ?

° Watch Video Solution



https://dl.doubtnut.com/l/_X9SQpVTwyJAB
https://dl.doubtnut.com/l/_6JTDsOn4GP0y
https://dl.doubtnut.com/l/_N2zB65nPIj3U
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89. How the elements are callified as metals and non- metals based on

their electronic configuration ?

o Watch Video Solution

90. What are metalloids ?

o Watch Video Solution

91. Why do elements in the same group have similar physical and

chemical properties?

o Watch Video Solution

92. Why the elements in a period posses different chemical properties ?

o Watch Video Solution



https://dl.doubtnut.com/l/_YBgu4r7Mvxft
https://dl.doubtnut.com/l/_g5HAUz1XQYH8
https://dl.doubtnut.com/l/_jOkPWd6tv71t
https://dl.doubtnut.com/l/_WRBacDE2X1Bt
https://dl.doubtnut.com/l/_EUMzEODV1LF1

93. Define valaency .

o Watch Video Solution

94, Define atomic radius.

o Watch Video Solution

95. What is crystal radius (or) metallic radius ?

o Watch Video Solution

96. What is covalent radius ?

o Watch Video Solution



https://dl.doubtnut.com/l/_EUMzEODV1LF1
https://dl.doubtnut.com/l/_8NDdV8xc9cTL
https://dl.doubtnut.com/l/_Qwyc4QHqLFvA
https://dl.doubtnut.com/l/_jA32k1lJTAHX

97. How does atomic radius vary in a period and in a group? How do you

explain the variation?

o Watch Video Solution

98. Define lonization energy .

o Watch Video Solution

99. How does the ionization energy vary in a group and a period ?

o Watch Video Solution

100. Electron affinity is

o Watch Video Solution



https://dl.doubtnut.com/l/_blH0cYNjcZEu
https://dl.doubtnut.com/l/_Nm4bwTQlr6wa
https://dl.doubtnut.com/l/_B8cx1U4lEzG8
https://dl.doubtnut.com/l/_WkCq9MiQPwYj

101. How does the electron gain enthalpy values vary in a group and a

period ?

° Watch Video Solution

102. Define electronegativity of an element on Mulliken scale.

° Watch Video Solution

103. What is Mulliken's proposal about electronegativity ?

° Watch Video Solution

104. How many following properties varies in a group and in a period ?
(a) Atomic radius (b) lonisation enthalpy

(c) Electronegativity (d) Electron gain enthalpy

° Watch Video Solution



https://dl.doubtnut.com/l/_6TTE92BK1Jcd
https://dl.doubtnut.com/l/_LLuMwGPNfD6l
https://dl.doubtnut.com/l/_GeLh1oytQ11l
https://dl.doubtnut.com/l/_XIGOHo7XQy1Y

105. How do metallic and non-metallic charcters vary in a group and

period ?

° Watch Video Solution

106. Give example where the electronic configuration of an element does

not justify its inclusion in a block of element.

° Watch Video Solution

107. How many elements are present in the 5th period of the long form

peripodic table ? Give a possible reason .

° Watch Video Solution

108. What do you mean by screening effect ?

e l


https://dl.doubtnut.com/l/_XIGOHo7XQy1Y
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| ¥ Vvatch Video Solution J

109. Arrange the elements B, N, Be and O in the increasing order of their

ionization potentials.

o Watch Video Solution

110. What is meant by first ionization energy ?

o Watch Video Solution

111. What is meant by second ionization energy ?

o Watch Video Solution

112. What do you mean by element family ?

o Watch Video Solution



https://dl.doubtnut.com/l/_xU5dEBH4Yyqt
https://dl.doubtnut.com/l/_yvFVwHOJSBl6
https://dl.doubtnut.com/l/_86nPvmOTSvnc
https://dl.doubtnut.com/l/_lVZO21JO2Q49
https://dl.doubtnut.com/l/_wsz1huJvq7oK

113. Give the outer orbit general electronic configuration of

(a) Noble gases

° Watch Video Solution

114. Give the outer orbit general electronic configuration of

(b) Representative elements

° Watch Video Solution

115. Give the outer orbit general electronic configuration of

(c) Transition elements

° Watch Video Solution

116. Give the outer orbit general electronic configuration of

(d) Inner transition elements.

| e


https://dl.doubtnut.com/l/_WBrqy5nDEx8X
https://dl.doubtnut.com/l/_53OHbgL5PmRB
https://dl.doubtnut.com/l/_L1Rg1YjFSG9I
https://dl.doubtnut.com/l/_kKJtNTlNOp9M

| & Watch Video Solution I

117. What is a triad?

o Watch Video Solution

118. Chlorine bromine , iodine are Dobereiner's triads .How do you justify ?

o Watch Video Solution

119. Why are lanthanides and actinides placed separately at the bottom of

the periodic table ?

o Watch Video Solution

120. Second ionization energy of an element is higher than its first

ionization energy Why ?

N I


https://dl.doubtnut.com/l/_kKJtNTlNOp9M
https://dl.doubtnut.com/l/_fCBgDeQZvHjv
https://dl.doubtnut.com/l/_CzfTxSz4wWAM
https://dl.doubtnut.com/l/_FAI6GARrw2AZ
https://dl.doubtnut.com/l/_yt2H7cPJMec2

| ¥ Vvatch Video Solution J

121. Hydrogen can be placed in group 1 and group 17 in the periodic table.

Why ?

o Watch Video Solution

122. Why do inert gases have zero valency value ?

o Watch Video Solution

2nd

123. Z' element belongs to (second ) group in the periodical table ,

Write the formula of oxide of it .

o Watch Video Solution

124. DO the atom of an element and its ion have same size ?

| o WMl L\ dan Ol iklmn



https://dl.doubtnut.com/l/_yt2H7cPJMec2
https://dl.doubtnut.com/l/_gUQkUBnebss3
https://dl.doubtnut.com/l/_irZATf44YQF1
https://dl.doubtnut.com/l/_KeCu56QvoKXS
https://dl.doubtnut.com/l/_gfTUDHRol15u
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125. Which one between Na and Na ™ would have more size ?

° Watch Video Solution

126. What are representative elements? Give their valence shell

configuration

° Watch Video Solution

127. Formation of cation is endothermic where formation of anion is

exothermic justify .

° Watch Video Solution

128. Different elements exist in different physical states. However only

gaseous state is taken into consideration for all elements for defining IP


https://dl.doubtnut.com/l/_gfTUDHRol15u
https://dl.doubtnut.com/l/_CL6Q2ukqTG1J
https://dl.doubtnut.com/l/_09sx3OYGJA5i
https://dl.doubtnut.com/l/_OZEXyhHeFKDc
https://dl.doubtnut.com/l/_5ONJ4RfDsFPY

(or) EA. Give reason.

° Watch Video Solution

129. Explain the limiation of Mendeeff's periodic table .

° Watch Video Solution

130. How are the elements divided into s, p, d and f - blocks in the

Modern periodic table ?

° Watch Video Solution

131. Do you think Newland's law of octaves is correct ? Justify .

° Watch Video Solution



https://dl.doubtnut.com/l/_5ONJ4RfDsFPY
https://dl.doubtnut.com/l/_Wyf6owgOKsZB
https://dl.doubtnut.com/l/_4yxxGhJDKsit
https://dl.doubtnut.com/l/_xIcO3xWHTtGb

132. Why did Mendeleeff had to leave certain blank spaces in his periodic

table ? What is your explanation for this ?

° Watch Video Solution

133. The second period element 'F' has electrons gain enthaly than the

third period elements of same group 'Cl ' Why ?

° Watch Video Solution

134. An element has atomic number 19. where would you expect this

element in the periodic table and Why ?

° Watch Video Solution

135. Give reason for the need of classification of element .

° Watch Video Solution



https://dl.doubtnut.com/l/_xk46KYFSTGIO
https://dl.doubtnut.com/l/_6ZbqY6k4Wd2Z
https://dl.doubtnut.com/l/_wWbzYibL7NZA
https://dl.doubtnut.com/l/_Bt64Rwj9rVw9

136. x,y and z are the elements of a Dobereiner 's tried .If the atomic mass

of "x’ is 7 and that of 'z’ in 39. what should be the atomic mass of the 'y’

?

° Watch Video Solution

137. Explain the ionizaton energy order in the following sets of elements :

Na,Al,Cl

° Watch Video Solution

138. Explain the ionizaton energy order in the following sets of elements :

Li ,Be,B

° Watch Video Solution



https://dl.doubtnut.com/l/_Bt64Rwj9rVw9
https://dl.doubtnut.com/l/_0p9jMSTD1lz6
https://dl.doubtnut.com/l/_qz4gEJvYnBEz
https://dl.doubtnut.com/l/_S73pFgw0xUD3

139. Explain the ionizaton energy order in the following sets of elements :

CN,O

° Watch Video Solution

140. Explain the ionizaton energy order in the following sets of elements :

F.Ne ,Na

° Watch Video Solution

141. Explain the ionizaton energy order in the following sets of elements :

Be ,Mg ,Ca

° Watch Video Solution

142. The electrons configuration of atom A is 2,8,6

What is the atomic number of element A ?

| e


https://dl.doubtnut.com/l/_uQuLHajFS6Dk
https://dl.doubtnut.com/l/_JjIRCQ8VSvbv
https://dl.doubtnut.com/l/_1CNJuaHKNcID
https://dl.doubtnut.com/l/_3Q9LGP0wPWm9

l & Watch Video Solution J

143. The electrons configuration of atom A is 2,8,6
stable whether the atomic size of element A is bigger or smaller than the

atom having atomic number 14 . Why ?

° Watch Video Solution

144. The electrons configuration of atom A is 2,8,6
Which of the elements exhibits similarity in chemical properties as

elements AO(8),C(6),N(7),AR (18) .Why ?

° Watch Video Solution

145. The electrons configuration of atom Ais 2,8,6

How the element is formed inert gas configuration ?

° Watch Video Solution



https://dl.doubtnut.com/l/_3Q9LGP0wPWm9
https://dl.doubtnut.com/l/_CtwgNVoxjszM
https://dl.doubtnut.com/l/_bNVlBX2RlLnN
https://dl.doubtnut.com/l/_gicX6ATAnvBI

146. Mendeleeff classified the known 63 elements in the form of a periodic
table. Mention any two things that benefitted study of chemistry, to

support above statement.

° Watch Video Solution

147. Explain the salient features and achievements of the Mendeleeff’s

periodic tble.

° Watch Video Solution

148. Which property of an element is basis in the construction of modern

periodic table ?

° Watch Video Solution



https://dl.doubtnut.com/l/_kVFj8JjOrrYx
https://dl.doubtnut.com/l/_kYvKONbQWJwo
https://dl.doubtnut.com/l/_kH6OkJzNe4aV

149. Define ionization energyExplain on which the ionization energy

depends on .

° Watch Video Solution

150. What is the need to classify elements ?

° Watch Video Solution

151. lonization Fotential curve is the group of atomic number versus
ionisations energy in KJ / mole . The IP curve is given for elements upto Z

=30.


https://dl.doubtnut.com/l/_Im8N9koTtRYc
https://dl.doubtnut.com/l/_RqzlqThB7Jlm
https://dl.doubtnut.com/l/_t8OGkLMKouZ8
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Why is there a sudden decreasing in the ionization energy from He to Li ?

o Watch Video Solution

152. lonization Fotential curve is the group of atomic number versus
ionisations energy in K] / mole . The IP curve is given for elements upto Z

=30.


https://dl.doubtnut.com/l/_t8OGkLMKouZ8
https://dl.doubtnut.com/l/_VDOgJ26YaVwf
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Why is there a sudden decreasing in the ionization energy from He to Li ?

o Watch Video Solution

153. lonization Fotential curve is the group of atomic number versus
ionisations energy in K] / mole . The IP curve is given for elements upto Z

=30.


https://dl.doubtnut.com/l/_VDOgJ26YaVwf
https://dl.doubtnut.com/l/_APQGRwfaSOMx
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Why is there a sudden decreasing in the ionization energy from He to Li ?

o Watch Video Solution

154. lonization potential curve is the graph of atomic number versus
o : J o

ionization energy in KMO < .The IP curve is given for elements upto Z
=30. What is the trend of ILPE in the periods while going from left to

reight in the periodic table?

o Watch Video Solution



https://dl.doubtnut.com/l/_APQGRwfaSOMx
https://dl.doubtnut.com/l/_vFDxnYCtvvvu

155. Newlands proposed the law of octaves . Mendeleeff suggested eight
groups for elements in his table . How do you explain these observations

in terms of modern periodic classification ?

° Watch Video Solution

156. Why was the basis is classificatons of elements changed from the

atomic mass to the atomic number ?

° Watch Video Solution

157. Why was the basis is classificatons of elements changed from the

atomic mass to the atomic number ?

° Watch Video Solution



https://dl.doubtnut.com/l/_vFDxnYCtvvvu
https://dl.doubtnut.com/l/_aQ6qor1ZQnQy
https://dl.doubtnut.com/l/_DJFeHkEG0TFm
https://dl.doubtnut.com/l/_Z76UKn3veT5c

158. What is a periodic property? How the following properties vary in a
group and in a period? Explain

(a) IP.

° Watch Video Solution

159. Elments in a group generally possess similar properties , but
elements along a period have different properties .How do you explain

this statement ?

° Watch Video Solution

160. Elments in a group generally possess similar properties , but
elements along a period have different properties .How do you explain

this statement ?

° Watch Video Solution



https://dl.doubtnut.com/l/_6h0ZJxh7UXEp
https://dl.doubtnut.com/l/_2ot51inD1yTt
https://dl.doubtnut.com/l/_n3Tf6NjBGZtP
https://dl.doubtnut.com/l/_osZ4SYSaIsz8

161. Name two elements that you would expect to have chemical

properties similar to Mg . What is the basis for your choice ?

° Watch Video Solution

162. What is a group?

° Watch Video Solution

163. What is a period in modern periodic table ?

° Watch Video Solution

164. MendeleeV's eka-aluminiumis

A. 1. Scandium

B. 2. Gallium

C. 3. Germanium


https://dl.doubtnut.com/l/_osZ4SYSaIsz8
https://dl.doubtnut.com/l/_BUipwaM5WOMn
https://dl.doubtnut.com/l/_B9HcOYC8IDBP
https://dl.doubtnut.com/l/_bYXchWwSFmS0

D. 4. Indium

Answer:

° Watch Video Solution

165. Which one of the following elements has more electropositivity ?

A. Chlorine

B. Carbon

C. Oxygen

D. Potassium

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_bYXchWwSFmS0
https://dl.doubtnut.com/l/_o38qdSLjO22I

166. Number of vertical columns in the modern periodic table are

per IUPAC notation).

A7

B.8

C.10

D.18

Answer:

° Watch Video Solution

167. A Dobereiner's Triad in the following, is ...

A.Cl,Br, |

B. H, He, Li

C.H,Na, cl

D.G,N,O


https://dl.doubtnut.com/l/_ckAODzddnEdV
https://dl.doubtnut.com/l/_8zoZyvyC7XV5

Answer:

° Watch Video Solution

168. Which one of the following belongs to the group of atomic weights

of Dobereiner triads ?

A.1.40,875,120

B. 2. 40, 87.5, 127

C.3.40, 775,137

D. 4. 40, 88.5,137

Answer:

° Watch Video Solution

169. 11, 12, 13 and 14 are the atomic numbers of the elements Na, Mg, Al

and Si respectively. Which element have more atomic radius ?


https://dl.doubtnut.com/l/_8zoZyvyC7XV5
https://dl.doubtnut.com/l/_5Nyi1FIDqnwg
https://dl.doubtnut.com/l/_HGCVJRdZWUjU

A.Na

B. Mg

C. Al

D. Si

Answer:

o Watch Video Solution

170. The most electronegative element is

A.CS

B. He

C.F

D.Li

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_HGCVJRdZWUjU
https://dl.doubtnut.com/l/_q5NDpsblgypP

171. Raju : All the known elements at the time of Dobereiner. could not be

arranged in the form of triads. Divya : Mendeleeff tried to explain the

similarities of elements in the same group in terms of their electron

configuration.

A. Both Raju and Divya are correct

B. Raju is correct but Divya is wrong

C. Raju is wrong but Divya is correct

D. Both are wrong

Answer:

° Watch Video Solution

172. (i) Newlands proposed the law of octaves.
ii) The law of octaves was not valid for elements that had atomic masses

higher than calcium.


https://dl.doubtnut.com/l/_q5NDpsblgypP
https://dl.doubtnut.com/l/_MXMtq815dldM
https://dl.doubtnut.com/l/_CzwQ4xdC2BWo

iii) Newlands left blanks for new elements in his periodic table.

Which statement is wrong?

A. 1. (i).

B. 2. (ii).

C. 3. (iii).

D. 4. (i) and (iii).

Answer:

o Watch Video Solution

173. State and give one example for Dobereiner's law of triads and

Newland's law of octaves.

A.Robert boyle

B. Mendeleeff

C. Moseley


https://dl.doubtnut.com/l/_CzwQ4xdC2BWo
https://dl.doubtnut.com/l/_2i91shDc7i5K

D. Doberiener

Answer:

° Watch Video Solution

174. "Select the common point/s' in Dobereiner and Newlands Laws. i)

Atomic weights.ii) All the elements available at that time could not be

arranged in his law. iii) They followed valency. "

A. (i) and (ii)

B. (i) only

C. (iii) only

D. (ii) only

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_2i91shDc7i5K
https://dl.doubtnut.com/l/_MHTzJcqAQBcq
https://dl.doubtnut.com/l/_OISPKIvwTBr1

175. Assertion (A) : Mendeleeff placed "Be, Mg and Ca" in one group.

Reason (R) : When " Be, Mg and Ca" react with oxygen and form BeO,

MgO and CaO.

A.1. A and 'R' are true and 'R' is supported to ‘A

B.2.A'and 'R' are true and 'R' is not supported to 'A

C.3.A'is true but 'R' is false

D. 4. A'is false but 'R' is true

Answer:

o Watch Video Solution

176. Which one is not a salient features of the Mendeleeff's periodic table.
a) Groups and Sub-groups. b) Predicting the properties of missing

elements. c) Anomalous series. d) Correction of atomic weights.

B.bandc


https://dl.doubtnut.com/l/_OISPKIvwTBr1
https://dl.doubtnut.com/l/_7esRUO9zNfAE

C.d

D. None of the above

Answer:

° Watch Video Solution

177. A: The properties of elements are the periodic functions of their

atomic weights. B: The properties of elements are the periodic functions

of their atomic numbers.

A. A = Moseley, B = Mendeleeff

B. A = Mendeleeff, B = Moseley

C. A =Doberiener, B = Mendeleeff

D. A = Mendeleff, B = Doberiener

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_7esRUO9zNfAE
https://dl.doubtnut.com/l/_umolIoPPckjS

178. Assertion (A) : It is a better way of arranging the elements in the

periodic table is according to the increasing atomic number. Reason (R) :

This arrangement. according to increasing atomic number eliminated the

problem of anomalous series.

A.Both Aand R are true and R is a correct explanation of A

B. Both A and Rare true and R is not a correct explanation of A

C.Ais true and R is false

D. Both are false

Answer:

o Watch Video Solution

179. Z indicates in the notation "~ A.x z. i) Number of protons in the
atom ii) Number of electrons in the neutral atom. iii) Number of neutrons

in the atom.


https://dl.doubtnut.com/l/_umolIoPPckjS
https://dl.doubtnut.com/l/_Y0L48Y9si8Ol
https://dl.doubtnut.com/l/_yMpoeSvsjhd6

A. (i) only

B. (i) and (ii) only

C. (i), (i) & (iii)

D. (i) and (iii) only

Answer:

o Watch Video Solution

180. Assertion (A): Na' is a s-block element Reason (R) : 'Na' gets its last

coming electron (differentiating electron) into 3s orbital.

A.Both 'A'and 'R' are correct and 'R’ supports ‘A

B. Both ‘A" and 'R' are correct but 'R' does not supports 'A

C.A'is correct but 'R" is wrong

D. A'is wrong but 'R' is correct

Answer:



https://dl.doubtnut.com/l/_yMpoeSvsjhd6
https://dl.doubtnut.com/l/_yHekxR7dcFh8

| o Watch Video Solution

181. Assertion (A) : 'Cl' is a non-metal. Reason (R): Non-metal has five or

more electrons in their outer most shell.

A.Both 'A'and 'R' are correct and 'R' is correct explanation of ‘A

B. Both ‘A"’ and 'R' are correct but 'R' is not correct explanation of ‘A

C.A'is correct but 'R' is wrong

D. A'is wrong but 'R' is correct

Answer:

o Watch Video Solution

182. (a) Lanthanoids and actinoids are belongs to 3rd group. b)

Lanthanoids and actinoids are called as transition elements.

A.a and b are wrong


https://dl.doubtnut.com/l/_yHekxR7dcFh8
https://dl.doubtnut.com/l/_qsIjRU88zc65
https://dl.doubtnut.com/l/_8nxAzZpCQ2B8

B.a and b are correct

C.ais correct but b is wrong

D.ais wrong but b is correct

Answer:

o Watch Video Solution

183. Assertion (A) : Lanthanides and Actinides are called as Inner

Transition Elements.

Reason (R) : They are the part of Transition Elements.
A.1.Both A and R are correct but R is correct explanation of ‘A
B.2.Both A and R are correct but R is not correct explanation of ‘A
C.3. A is correct but R is wrong

D.4. A is wrong but R is correct

Answer:



https://dl.doubtnut.com/l/_8nxAzZpCQ2B8
https://dl.doubtnut.com/l/_SB2yaiaX2Bfm

| @ Watch Video Solution J

184. Why do elements in the same group have similar physical and

chemical properties.

A.Both ‘A" and 'R' are correct and 'R’ is correct explanation of ‘A

B.Both 'A"and 'R' are correct but 'R' is not correct explanation of ‘A

C.A'is correct but 'R' is wrong

D. A'is wrong but 'R' is correct

Answer:

o Watch Video Solution

185. The pair of elements that have similar chemical properties are

A.R'and 'D' are correct

B.R'is correct but 'D' is wrong


https://dl.doubtnut.com/l/_SB2yaiaX2Bfm
https://dl.doubtnut.com/l/_zSc8oivexPKu
https://dl.doubtnut.com/l/_ZtdTYd1tvKQh

C.R'is wrong but 'D' is correct

D.R'and 'D' are wrong

Answer:

° Watch Video Solution

186. Pavan (P) : The general electronic configuration of alkali metal family
is ns%.Manasa (M) : Alkali metals are placed in 1st group in periodic table.
A.P'and 'M' are correct
B. P is wrong but M is right
C.P'is correct but 'M'is wrong

D.P'and 'M' are wrong

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ZtdTYd1tvKQh
https://dl.doubtnut.com/l/_zj5gbR4VYvNI
https://dl.doubtnut.com/l/_xxNPaCd4dMzM

187. Assertion (A): ‘H' & 'He' belongs to period - 1. Reason (R) : 'H & 'He'

contain only one main shell 'K'.

A.Both 'A'and 'R' are correct and 'R' is correct explanation of 'A

B. Both A and B are correct but R is not correct explanation of A

C.A'is correct but 'R' is wrong

D. A'is wrong but 'R' is correct

Answer:

o Watch Video Solution

188. Assertion (A): The first period in periodic table contain only two
elements. Reason (R) : 'K' subshell could be occupied by two electrons
only, 1s'and 1s2.

A.Both ‘A and 'R' are correct and 'R' is correct explanation of 'A

B. Both ‘A and 'R' are correct and 'R' is not correct explanation of ‘A


https://dl.doubtnut.com/l/_xxNPaCd4dMzM
https://dl.doubtnut.com/l/_xukpj1vZJwW9

C.A'is correct but 'R' is wrong

D. A'is wrong but 'R' is correct

Answer:

o Watch Video Solution

189. Suneetha (A) : Third period contain 18 elements, because it has 3
subshells namely 3s, 3p and 3d. Sreelatha (B) : Third period has 8
elements, because while electrons are being filled into the shell '3d’ gets.
electrons only after '4s’ is filled.

A. Ais correct bu B is wrong

B. Aiis wrong but B is correct

C. Both are correct

D. Both are wrong

Answer:



https://dl.doubtnut.com/l/_xukpj1vZJwW9
https://dl.doubtnut.com/l/_VtWjKsFLGAJi

l @ yvatch video Solution ]

190. James (A) : The positive ions of an element has less in size than its

neutral atom. Srinu (B) : The negative ion of an element has less in size

than its neutral atom.

A.Ais correct bu B is wrong

B. Aiis wrong but B is correct

C. Both are correct

D. Both are wrong

Answer:

o Watch Video Solution

191. Balu (B) : Valence of an element with respect to hydrogen is the
number of hydrogen atoms with which one atom of that element

chemically combines. Venu (V) : Valence of an element with respect to


https://dl.doubtnut.com/l/_VtWjKsFLGAJi
https://dl.doubtnut.com/l/_MA4U2kWrmAX5
https://dl.doubtnut.com/l/_VLrZGgmP0Vqw

oxygen is twice the number of oxygen atoms which one atom of that

element combines.

A.Both 'B' and 'V' are correct

B. Both B and V are wrong

C.B'is correct but 'V' is wrong

D.B'is wrong but 'V' is correct

Answer:

o Watch Video Solution

192. Valeney of Ca is

A.Both 'A'and 'R' are correct and 'R’ is correct explanation of 'A

B. Both A and R ate correct but R is not correct explanation for A

C.A'is correct but 'R" is wrong

D. A'is wrong but 'R' is correct


https://dl.doubtnut.com/l/_VLrZGgmP0Vqw
https://dl.doubtnut.com/l/_AgTDwLtDNdso

Answer:

° Watch Video Solution

193. Assertion (A) : Atomic radii increase from top to bottom in a group of

the periodic table.

Reason (R) : The number of shells in a group top to bottom increases.
A.1.Both A and R are correct and R is correct explanation of A
B.2.Both A and R are correct but R is not correct explanation for A

C.3.A is true but R is false.

D.4. A is false and R is true.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_AgTDwLtDNdso
https://dl.doubtnut.com/l/_TXdhaTJieQdt

194. Assertion (A): Atomic radii of elements decrease across a period from
left to right.
Reason (R;): Nuclear charge increases.
Reason (R5): No. of shells increases.
A. 1. R, supports A
B. 2.R, supports A

C.3. R1&R, supports A

D.4R,&R; does not supports A

Answer:

o Watch Video Solution

195. Assertion (A) : The size of Na ™ ion is less than 'Na' atom. Reason (R;
): Na™ has more protons than Na atom. Reason (Rj): In general the

positive ion (cation) of an element has less size than Its neutral atom.


https://dl.doubtnut.com/l/_uesUDiLnlAeE
https://dl.doubtnut.com/l/_nXdgFUdWoAKS

A. Ry supports A

B. Ry supports A

C. R1&R; supports A

D. R1&R, does notsupports A

Answer:

o Watch Video Solution

196. It is easier to remove one electron from O than N because Nitrogen

has

A.Both 'A'and 'R' are correct and 'R' is correct explanation of 'A

B. Both A and R are correct but R is not correct explanation for A

C.Ais correct but R is wrong

D.ais wrong but R is correct

Answer:



https://dl.doubtnut.com/l/_nXdgFUdWoAKS
https://dl.doubtnut.com/l/_dHRtvyo1TBH8

| ° Watch Video Solution

197. Which of the following property decreases down a group :

A. Atomic radius

B. Electronegativity

C. Electropositivity

D. Metallic nature

Answer:

° Watch Video Solution

198. Actinides belongs to __ period.

A 1.1

B.2.3

C.3.5


https://dl.doubtnut.com/l/_dHRtvyo1TBH8
https://dl.doubtnut.com/l/_Ratb6xTYry9z
https://dl.doubtnut.com/l/_UE0TMdoLQ0Ab

D.4.7

Answer:

° Watch Video Solution

199. lonization energy is not depending on

A. Nuclear charge

B. Shielding effect

C. Penetrating power

D. Electron neutrality

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_UE0TMdoLQ0Ab
https://dl.doubtnut.com/l/_3SPahUYcldE2

200. Moseley calculated the number of positive charges in the atoms by

analysing their___ .

A. 1. X-ray patterns

B. 2. line spectrum

C. 3. chemical properties

D. 4. a - ray patterns

Answer:

o Watch Video Solution

201. Group 13(llIA) elements are known as__

A. alkali metal family

B. nitrogen family

C. noble gas family

D. boron family


https://dl.doubtnut.com/l/_zC3wTY7oBgua
https://dl.doubtnut.com/l/_wkVrssDicwK1

Answer:

° Watch Video Solution

202. The incompletely filled period is

A5

B.7

C.4

D.6

Answer:

° Watch Video Solution

203.The inner transition elements are __ elements.

A. p-block


https://dl.doubtnut.com/l/_wkVrssDicwK1
https://dl.doubtnut.com/l/_8QaGvbZhY8rS
https://dl.doubtnut.com/l/_ffbrRqWR6JHn

B. f-block

C.s-block

D. d-block

Answer:

° Watch Video Solution

204. lonization energy increases with the Increase of

A. Nuclear charge

B. Atomic radius

C. Screening effect

D. None

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ffbrRqWR6JHn
https://dl.doubtnut.com/l/_Spz9qalqQlP2
https://dl.doubtnut.com/l/_WiRpB8qJNWX0

205. Number of essential elements are

A 12

B. 1

C.13

D.63

Answer:

° Watch Video Solution

206. Number of elements from natural sources known in 1940 were....

Aln

B. 2.63

C.3.91

D.4.90


https://dl.doubtnut.com/l/_WiRpB8qJNWX0
https://dl.doubtnut.com/l/_qAjhU81c0c3G

Answer:

° Watch Video Solution

207. Example of Dobereiner's triad is

A. Li, Al, Ca

B. Li, Na, K

C.Li,K,Na

D. K, Al, Ca

Answer:

° Watch Video Solution

208. Newlands' periodic table restricted to __ elements.

A. 56


https://dl.doubtnut.com/l/_qAjhU81c0c3G
https://dl.doubtnut.com/l/_weqStwqficdY
https://dl.doubtnut.com/l/_ad7ykz9Gfv0b

B. 55

C.50

D. 59

Answer:

o Watch Video Solution

209. Newlands octaves first element resembles

A.6

B.4

C.7

D.8

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ad7ykz9Gfv0b
https://dl.doubtnut.com/l/_WTWz7q5YyYTX
https://dl.doubtnut.com/l/_ORJEEm1BxNsr

210. Modern periodic table consists of periods and

groups.

A.6

B.8

C.5

D.4

Answer:

o Watch Video Solution

211. Mendeleev's eka-aluminiumis

A. Scandium

B. Gallium

C. Germanium

D. Zinc


https://dl.doubtnut.com/l/_ORJEEm1BxNsr
https://dl.doubtnut.com/l/_CTWe2xFkyskU

Answer:

° Watch Video Solution

212. Modern periodic table was invented by

A. Moseley

B. Dobereiner

C. Mendeleeff

D. Newlands

Answer:

° Watch Video Solution

213. Modern periodic table consists of

groups.


https://dl.doubtnut.com/l/_CTWe2xFkyskU
https://dl.doubtnut.com/l/_7VyEUDGvjoIw
https://dl.doubtnut.com/l/_MhkMWWU3k4US

A. 16 groups, 8 periods

B. 8 groups, 8 periods

C. 18 groups, 8 periods

D. 18 groups, 7 periods

Answer:

o Watch Video Solution

214. Elements with electronic configuration ns' and ns? are called

A. p-block elements
B. s-block elements
C. d-block-clemerits

D. f-block elements

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_MhkMWWU3k4US
https://dl.doubtnut.com/l/_KeUMfJAjK2eT

215. Electronic configuration from ns? np' to np? np® are called

A. s-block elements
B. p-block elementa
C.d-block elements

D. f-block elements

Answer:

o Watch Video Solution

216.s and p-block elements are called

A. Representative elements

B. Transition elements

C.Inner transition elements


https://dl.doubtnut.com/l/_KeUMfJAjK2eT
https://dl.doubtnut.com/l/_DkD2Hh0AAv8p
https://dl.doubtnut.com/l/_4TzyndHA8ftc

D. Zero group elements

Answer:

° Watch Video Solution

217. Name given to IV group element family is

A. Alkali family

B. Boron family

C. Carbon family

D. Oxygen family

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_4TzyndHA8ftc
https://dl.doubtnut.com/l/_F4ksktG52BVT

218. What is the general outersheell electronic configuration of alkali
metals ?
A.ns
B.'n,s2np1
C. nsznp4

D. nsl

Answer:

o Watch Video Solution

219. Valency of chlorine is

Al

B.2

C.3

D.4


https://dl.doubtnut.com/l/_0unzKKNwpWC4
https://dl.doubtnut.com/l/_xhNAlPbQffhx

Answer:

° Watch Video Solution

B.10 2

c.10713

D.10°8

Answer:

° Watch Video Solution

A.O


https://dl.doubtnut.com/l/_xhNAlPbQffhx
https://dl.doubtnut.com/l/_zJ1kU3awkBm9
https://dl.doubtnut.com/l/_D9rfynRDca1d

B.1

C.2

D.3

Answer:

° Watch Video Solution

222. Elements with electronic configuration ns*np® are called

A. Representative elements
B. Transition elements
C. Inner transition elements

D. Noble gases

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_D9rfynRDca1d
https://dl.doubtnut.com/l/_ewY7636FhMka
https://dl.doubtnut.com/l/_jqZgiVUBt0q4

223. block elements are called as lanthanides and actinides in

modern periodic table.

B.p

C.f

D.d

Answer:

° Watch Video Solution

224.4f elements are called

A. Noble gases

B. Lanthanides

C. Representative elements

D. Actinides


https://dl.doubtnut.com/l/_jqZgiVUBt0q4
https://dl.doubtnut.com/l/_0IOR4bFi0e5c

Answer:

° Watch Video Solution

225, 5f elements are called

A. Actinides

B. Lanthanides

C. Transition elements

D. Representative elements

Answer:

° Watch Video Solution

226. was the basis of the classifications proposed By Dobereiner

, Newlands and Mendeleeff .


https://dl.doubtnut.com/l/_0IOR4bFi0e5c
https://dl.doubtnut.com/l/_yRlujCdaFlBN
https://dl.doubtnut.com/l/_wFPNxZv6laRx

A. Atomic number

B. Atomic weight

C. Structure of atom

D. Electronic configuration

Answer:

o Watch Video Solution

227. The law of conservation of mass holds good for all of the following

except

A. hydrogen

B. carbon

C. calcium

D. argon

Answer:



https://dl.doubtnut.com/l/_wFPNxZv6laRx
https://dl.doubtnut.com/l/_QyEXdOoTQmvu

| ° Watch Video Solution

228. Mendeleeff's eka - boron was named as

A. Gallium

B. Germanium

C. Silicon

D. Scandium

Answer:

after its discovery :

° Watch Video Solution

229, Atomic weight =

A. Equivalent weight x valency
. ., t
B. Equiva < ntwezghva < ncy

C. Equivalent weight + valency



https://dl.doubtnut.com/l/_QyEXdOoTQmvu
https://dl.doubtnut.com/l/_uylamVS3Ivkf
https://dl.doubtnut.com/l/_r1Yyecm1eLly

D. Equivalent weight

Answer:

° Watch Video Solution

230. The modern periodic table is organized on the basis of

A. atomic weight

B. electronic configuration

C. atomic mass unit

D. physical nature

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_r1Yyecm1eLly
https://dl.doubtnut.com/l/_gRLqieVU82JS

231. "The law states hat the physical and chemical properties of the

elements are periodic functions of their atmic weights ".

A. atomic number

B. atomic weight

C. atomic volume

D. size of the atom

Answer:

o Watch Video Solution

232. The elements with similar outer shell configuration are placed ina

A. period

B. group

C. block

D. table


https://dl.doubtnut.com/l/_YxXYnoS68Ot7
https://dl.doubtnut.com/l/_o1Ja4yeIHEOb

Answer:

° Watch Video Solution

233. Number of vertical columns in the modern periodic table are (As

per IUPAC notation).

A.16

B. 20

C.24

D.18

Answer:

° Watch Video Solution

234, Periods are based on the present in an atom.


https://dl.doubtnut.com/l/_o1Ja4yeIHEOb
https://dl.doubtnut.com/l/_XfQqS6pAnj2u
https://dl.doubtnut.com/l/_QWAmI2CeSbDa

A. electrons

B. no.of orbits

C. no.of main shells

D. colours

Answer:

° Watch Video Solution

235.4f elements are called

A. s-block

B. transition

C.inner transition

D. inert gases

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_QWAmI2CeSbDa
https://dl.doubtnut.com/l/_WUpEzYjshuKC

236. of an element was defined as combining power of an

element with respect of hydrogen and oxygen.

A. oxidation

B. valency

C.reduction

D. reactivity

Answer:

o Watch Video Solution

237. The atomic size in a group from top to bottom

A. increases

B. decreases

C.no change


https://dl.doubtnut.com/l/_WUpEzYjshuKC
https://dl.doubtnut.com/l/_MjVs8zZdJrUR
https://dl.doubtnut.com/l/_cGg5LqTsA90H

D. first increases then decreases

Answer:

° Watch Video Solution

238. In which units ionizations energy can be expressed ?

A.mol/J
B. KJ.mol
C.J.mol

D.K.J.mol_4

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_cGg5LqTsA90H
https://dl.doubtnut.com/l/_50m44HjNCbRJ

239. The minimum energy required to remove an election from the outer

most orbital of gaseous atom.

A.ionisation energy

B. electronegativity

C. electropositivity

D. oxidizing capacity

Answer:

o Watch Video Solution

240. The energy required to remove an electron from unipositive ion is

called

A. first ionization energy

B. second ionization energy

C. electropositivity


https://dl.doubtnut.com/l/_1VyrosBhl4dp
https://dl.doubtnut.com/l/_BhkzKw0zqzpW

D. atomic energy

Answer:

° Watch Video Solution

241.The energy liberated when an electron is added to a netural gaseous

atom is known as

A. ionisation energy

B. electronegativity

C. electron affinity

D. reactivity

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_BhkzKw0zqzpW
https://dl.doubtnut.com/l/_BzEQHMoBAA69

242, According to Mulliken, electronegativity =

I1.E. +E A
A 5

B.LE+E.A

C.2(l.LE.+ E.A)

D.21.E+ EA

Answer:

o Watch Video Solution

243. Electronegativity values... along a period from left to right.

A. decrease

B. first increases then decreases

C.increase

D. can't measure


https://dl.doubtnut.com/l/_CKdngjQeVaOh
https://dl.doubtnut.com/l/_kiJ9PqCWckRi

Answer:

° Watch Video Solution

244, The number of sub-groups in each group of Mendeleeff's periodic

table is.........

A1l
B.3
C.2

D.5

Answer:

° Watch Video Solution

245. Mendeleeff tried to explain similarities of elements in the same

group by using their


https://dl.doubtnut.com/l/_kiJ9PqCWckRi
https://dl.doubtnut.com/l/_s0j9JNbPaN15
https://dl.doubtnut.com/l/_apLH2qZztYWc

A.valency

B. configuration

C. weight

D. mass

Answer:

° Watch Video Solution

246. Eka silicon is now known as

A. gallium

B. germanium

C. cobalt

D. nickel

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_apLH2qZztYWc
https://dl.doubtnut.com/l/_J8CLz1YgpQqu

247. Eka means

A. three

B. eleven

C.on

D.none

Answer:

° Watch Video Solution

248. The anomalous series of elements of mendeleev's periodic table is

A.CO, P

B.Te, |

C.Ni, Te


https://dl.doubtnut.com/l/_J8CLz1YgpQqu
https://dl.doubtnut.com/l/_1nKNizJAtNWF
https://dl.doubtnut.com/l/_beuuwVCBySsk

D. I, Ni

Answer:

° Watch Video Solution

249. The number of positive charges in the atom of an element is the

of the element.

A. atomic number

B. atomic mass

C. atomic weight

D. atomic volume

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_beuuwVCBySsk
https://dl.doubtnut.com/l/_fzft7YBcJaDO

250. The group elements are also called as

A. groups

B. element family

C. actinoids

D. blocks

Answer:

o Watch Video Solution

251. Elements from %% Ceto _™ Lu are called

A.lanthanides

B. actinides

C.inert gases

D. transition elements


https://dl.doubtnut.com/l/_75CXw2KZ7p0I
https://dl.doubtnut.com/l/_EWcF63iBEjVm

Answer:

° Watch Video Solution

252. Elements from 90T'h tto103Lr are called

A. lanthanides

B. actinides

C.inert gases

D. transition elements

Answer:

° Watch Video Solution

253. The elements with three or less than three electrons in the outer

shell are considered as


https://dl.doubtnut.com/l/_EWcF63iBEjVm
https://dl.doubtnut.com/l/_REr10acMqhm1
https://dl.doubtnut.com/l/_Ajtah4DzZeuh

A. metals

B. gases

C. non-metals

D. liquids

Answer:

o Watch Video Solution

254. The elements with five or more electrons in the outer shell are

considered as

A. metals

B. gases

C. non-metals

D. liquids

Answer:



https://dl.doubtnut.com/l/_Ajtah4DzZeuh
https://dl.doubtnut.com/l/_m0Mazn0HiGNy

| o Watch Video Solution

255. The elements which have properties that are intermediate between

the properties of metals and non - metals are called

A. metalloids

B. solids

C.liquids

D. gases

Answer:

° Watch Video Solution

256. of an element was defined as combining power of an

element with respect of hydrogen and oxygen.

A. Oxidation


https://dl.doubtnut.com/l/_m0Mazn0HiGNy
https://dl.doubtnut.com/l/_xPXa5cXL7N6r
https://dl.doubtnut.com/l/_V9dvFINhE2Ls

B. Reduction

C.Valence

D. Reactivity

Answer:

° Watch Video Solution

257.The valency of group Vil is

A3
B.1
C.2

D.O

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_V9dvFINhE2Ls
https://dl.doubtnut.com/l/_dLiqCJqSWhvC
https://dl.doubtnut.com/l/_LICcayl3YGZG

258. How does atomic radius of an element vary across a period from left

toright ?

A. decrease

B. increase

C.no change

D. can't say

Answer:

o Watch Video Solution

259. What is the property of an element , in which atom can attract

electrons towards it - self when it is bounded to the other atom ?

A. electron affinity

B. electropositivity

C. electronegativity


https://dl.doubtnut.com/l/_LICcayl3YGZG
https://dl.doubtnut.com/l/_LkknLAa9dOcb

D. ionization energy

Answer:

° Watch Video Solution

260. The metallic character while non metallic character

along a period.

A. decrease, increase

B. increase,decrease

C.increase, increase

D. decrease, decrease

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_LkknLAa9dOcb
https://dl.doubtnut.com/l/_aVIxSArPAtAw

261. "The law states hat the physical and chemical properties of the

elements are periodic functions of their atmic weights ".

A. Mosley's periodic law

B. Mendeleeff's periodic law

C. Newlands' periodic law

D. Proust's periodic law

Answer:

o Watch Video Solution

262. ‘Eka' elements are

A. Precious elements

B. Available in earth

C. Name given by Mendeleeff for missing elements

D. Elements in lanthanides


https://dl.doubtnut.com/l/_6FuuRj3ACty4
https://dl.doubtnut.com/l/_myu4C7giVXoI

Answer:

° Watch Video Solution

263. Which of the following relation is correct ?

A. Atomic weight = Equivalent weight x Valency

B. Atomic size = Equivalent weight x Valency

C. Equivalent weight = Atomic weight x Valency

D. All the above.

Answer:

° Watch Video Solution

264.The distance between the nucleus and the outer most orbit is called

A. lonization energy


https://dl.doubtnut.com/l/_myu4C7giVXoI
https://dl.doubtnut.com/l/_JeKYd68vvXgR
https://dl.doubtnut.com/l/_bC7wPFEdeDHi

B. Atomic radius

C. Electron affinity

D. Atomic volume

Answer:

° Watch Video Solution

265.M * + IE, =M "2(g)+e~ This represents

A. Electron affinity
B. lonization energy
C.Second ionization energy

D. Electronegativity

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_bC7wPFEdeDHi
https://dl.doubtnut.com/l/_xZCeQPociwmE
https://dl.doubtnut.com/l/_3WFnfKBuGwqj

266. In a group L.E decreases due to

A. Increase in number of shells

B. Increase in atomic size.

C. Decrease in nuclear charge on valence electrons

D. All the above

Answer:

o Watch Video Solution

267. Which of the following is the property of bonded atom ?

A. lonization energy

B. Electron affinity

C. Electronegativity

D. Above all


https://dl.doubtnut.com/l/_3WFnfKBuGwqj
https://dl.doubtnut.com/l/_4x1oiVl5PSGD

Answer:

° Watch Video Solution

268. Which of the following is the limitation is Mendeleeff's periodic table

?

A. Anomalous pairs

B. Similar elements are placed in separate groups

C. Different elements are placed in same group

D. All the above

Answer:

o Watch Video Solution

269. Periodicity is observed in periodic table due to reappearance of

similar valency shell configuration after regular interval of


https://dl.doubtnut.com/l/_4x1oiVl5PSGD
https://dl.doubtnut.com/l/_enEZA9N78Avn
https://dl.doubtnut.com/l/_HArJc7nDqoma

A 1.1,3,5,7,9

B.2.2,8,8,18,18,32

C.3.5,10,15, 20, 25

D. 4. 20, 30, 40, 50

Answer:

o Watch Video Solution

270. One of the following statements is not true. It is

A. As the atomic number increases, the size of the atom decreases in
groups.

B. As the atomic number increases, the nuclear charge increases in
periods.

C.In group the size of atom increases from top to bottom

D. In a period the size of atom decreases from left to right



https://dl.doubtnut.com/l/_HArJc7nDqoma
https://dl.doubtnut.com/l/_FiEU0HpnBvDZ

Answer:

° Watch Video Solution

271. The atomic radius decreases in a period due to

A. Increase in atomic number

B. Nuclear attraction over the electron increases

C.Increase in electron affinity values

D. Increase in ionization energy values

Answer:

° Watch Video Solution

272.Valency of an element indicates


https://dl.doubtnut.com/l/_FiEU0HpnBvDZ
https://dl.doubtnut.com/l/_Ny7tl0zGxi3p
https://dl.doubtnut.com/l/_N4rtKU65rOAw

A. Equal to number of oxygen atom with which one atom of element

combines

B. Double the number of oxygen atom with which one atom of

element combines

C. Half of the number of oxygen atom with which one atom of element

combines

D. All the above

Answer:

o Watch Video Solution

273. The formula of oxides and chloride of Eka-Silicon is

A. ESO,, ESCl,,

B. ES,05, ESCly

C.ESO, & ESCl,


https://dl.doubtnut.com/l/_N4rtKU65rOAw
https://dl.doubtnut.com/l/_ZNb8Hm3Nqm75

D. ESO, ESCI

Answer:

° Watch Video Solution

274. Guess the atomic weight of middle element if the atomic weights of
first and last elements are 7 and 39 respectively according to Law to
triaids.

A. Lithium

B. Sodium

C. Potassium

D. We cannot say

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ZNb8Hm3Nqm75
https://dl.doubtnut.com/l/_CUdtFDUHSRCl
https://dl.doubtnut.com/l/_91x9huMM5Gmh

275. Ea50s5: E,O,: GeO, [ E, = Eka aluminium, E,= Eka silicon]

A. Ga203,
B. GGOQ
C. C’a02

D. CCL203

Answer:

o Watch Video Solution

276. Mendeleeff said about eka-aluminium "If I hold it in my hand, it will

melt". Guess the reason.
A. The melting point of 'Ga' is 30.2° C
B. The melting point of 'Ge' is.30.2°C

C. The melting point of 'Sc' is 30.2° C

D. The melting point of 'Al" is 30.2° C


https://dl.doubtnut.com/l/_91x9huMM5Gmh
https://dl.doubtnut.com/l/_M45JrYDYrPRq

Answer:

° Watch Video Solution

277. Which of the following elements are not available at the time of

Mendeleeff?

A. Scandium

B. Gallium

C. Germanium

D. Above all

Answer:

° Watch Video Solution

278. Which of the following element does not contain '3s' orbital ?


https://dl.doubtnut.com/l/_M45JrYDYrPRq
https://dl.doubtnut.com/l/_FfLK6RDYAWCh
https://dl.doubtnut.com/l/_2zLB6bmvlT6b

A.Na

B. Ne

C.K

D.Ca

Answer:

o Watch Video Solution

279. Why are lanthanides and actinides placed separately at the bottom

of the periodic table ?

A. To reduce size of periodic table

B. To reduce no. of elements

C. They are not a part of periodic table

D. They are not stable elements

Answer:



https://dl.doubtnut.com/l/_2zLB6bmvlT6b
https://dl.doubtnut.com/l/_Hw3f6JGHrrzs

| ° Watch Video Solution

280. If 'He' is not a inert gas, it should be placed in the  group.

A. 1st

B. 2nd

C.17th

D. 18th

Answer:

o Watch Video Solution

281.n=1:1s N = 2: .

A. 2s

B. 2s, 2p

C.1s,2s


https://dl.doubtnut.com/l/_Hw3f6JGHrrzs
https://dl.doubtnut.com/l/_y5c0Y0d2umPl
https://dl.doubtnut.com/l/_OcYXrrn3jFBC

D.1s, 2s, 2p

Answer:

° Watch Video Solution

282. Guess the period if it has only '8' elements and K, L shells.

Al
B.2
C.3

D.4

Answer:

° Watch Video Solution

283. Which one shrinks in size than atom : i) Na "ii) Na iii) CI~ iv) CI


https://dl.doubtnut.com/l/_OcYXrrn3jFBC
https://dl.doubtnut.com/l/_0FsDN3cll6FF
https://dl.doubtnut.com/l/_3ZjMezmAkj01

A. (i) only

B. (iii) only

C. (i) & (iii)

D. (ii) & (iv).

Answer:

o Watch Video Solution

284.The ionization potential of '‘Be' is more than 'B'. This is due to

A. Stable electronic configuration in Be

B. Stable electronic configuration in B

C. Electron is removed from more penetrating s- orbital in Be

D.Aand C

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_3ZjMezmAkj01
https://dl.doubtnut.com/l/_wS89Syy8eEpJ

285. Assertion (A) : The size of Na ™ ion is less than 'Na' atom. Reason (R;
): Na™ has more protons than Na atom. Reason (Rj): In general the
positive ion (cation) of an element has less size than Its neutral atom.

A. More nuclear charge in Na™*

B. More electronegativity, in Na "

C. Less nuclear charge in Na ™

D. More electronegativity in Na

Answer:

° Watch Video Solution

286. The element at the bottom of a group would be expected to show

metallic charcter than the element at the top .


https://dl.doubtnut.com/l/_wS89Syy8eEpJ
https://dl.doubtnut.com/l/_hxDLB7lpY7Vv
https://dl.doubtnut.com/l/_hfhiXXyaQykd

B. high

C. medium

D. none

Answer:

° Watch Video Solution

287. The outermost main shell of an element is 'M' shell. This element

belongs to __ period.

Al

B.2

C.3

D.4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hfhiXXyaQykd
https://dl.doubtnut.com/l/_29dL4g2a5gTq

288. Give example where the electronic configuration of an element does

not justify its inclusion in a block of element.

A. Ca

B. Li

C.He

D.Be

Answer:

° Watch Video Solution

289. generally show less electronegative character.

A. Nobel gases

B. Gases

C. Metals


https://dl.doubtnut.com/l/_29dL4g2a5gTq
https://dl.doubtnut.com/l/_Q91gq2f0vhtH
https://dl.doubtnut.com/l/_7ktf61IC22Wd

D. Non-metals

Answer:

° Watch Video Solution

290. The atomic radius of Cl

A. lesser

B. greater

C.equal

D. does not exist

Answer:

~ atom.

o Watch Video Solution



https://dl.doubtnut.com/l/_7ktf61IC22Wd
https://dl.doubtnut.com/l/_sY90oimN4B67

291. cannot be decomposed into further substance by a physical

or chemical change.

A. Atom

B. Molecule

C. Element

D. Compound

Answer:

o Watch Video Solution

292. Which one shrinks in size than atom : i) Na " ii) Na iii) Cl~ iv) Cl

A. smaller

B. bigger

C. equal

D. can't compare


https://dl.doubtnut.com/l/_7l33OYZXqkfA
https://dl.doubtnut.com/l/_4fjVa2zk1Jwt

Answer:

° Watch Video Solution

293. Atomic number of the element which has diffe rentiating electron

enters into a d-subshell for the first time

A. ris

C.(n-1d

D.(n - 2)f

Answer:

° Watch Video Solution

294. Which of the following is the correct order of electron affinity


https://dl.doubtnut.com/l/_4fjVa2zk1Jwt
https://dl.doubtnut.com/l/_CgcbE3FgK3eS
https://dl.doubtnut.com/l/_kVJMGJfOjAWM

All>Br >Cl >F

B.2.F > Cl > Br > 1|

C.3.Cl > F > Br > 1

D.4.Cl > Br > F >

Answer:

o Watch Video Solution

295. Electron affinity of Fluorine is less than that of Chlorine because

A. smaller size of Cl

B. equal size of Cl with F

C.smaller size of F

D. larger size of F

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_kVJMGJfOjAWM
https://dl.doubtnut.com/l/_5efseXdep4cR

296. Which one of the following ion has the highest value of ionic radius?

A. Na™

B.O 2

CF~

D. Mg”\(+2)

Answer:

o Watch Video Solution

297. The size of anion is more than neutral atom. This is due to

A. 1. More nuclear charge in anion than neutral atom

B. 2. Less nuclear charge in anion than neutral atom

C. 3. More number of protons in anion


https://dl.doubtnut.com/l/_5efseXdep4cR
https://dl.doubtnut.com/l/_4VHKCtYUhtUm
https://dl.doubtnut.com/l/_kB2J9JW7XyIP

D. 4. Less number of electrons in neutral atom

Answer:

° Watch Video Solution

298. Which of the following is correct with respect to size ?

A. 1. Atom < Anion < Cation

B.2. Anion < Atom < Cation

C. 3. Cation < Atom < Anion.

D. 4. Cation < Anion < Atom

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_kB2J9JW7XyIP
https://dl.doubtnut.com/l/_XXbbkZtsjsg7

299. The L.E of 'N' is more than oxygen even though the size of 'O’ is less

than 'N'. This is due to

A. Half-filled configuration in 'N'

B. Half-filled configuration in 'O’

C. Full-filled configuration in 'N"

D. Full-filled configuration in 'O’

Answer:

o Watch Video Solution

300. For which of the following elements, the electron affinity values are

positive?

A. 1. Alkali metals

B. 2. Alkaline earth metals

C. 3. Halogens


https://dl.doubtnut.com/l/_hp7N3SaWmkQJ
https://dl.doubtnut.com/l/_Sqnqq5V6UA8i

D. 4. Chalcogens

Answer:

° Watch Video Solution

301. Which one does not belongs to Dobereiner's triads ?i) Lithium (7.0) -
Sodium (23.0) - Potassium (39.0) ii) Calcium (40.0) - Strontium (88.5) -
Barium (137.0) iii) Manganese (55.0) - Selenium (78.0) - Iron (56.0)

A. (i)

B. (ii)

C. (iii)

D. (ii) & (iii)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Sqnqq5V6UA8i
https://dl.doubtnut.com/l/_T6ByeVedmACJ
https://dl.doubtnut.com/l/_LD01GybXg3J5

302.Element ~-H — F — Cl = Co&Ni — Br — Pd — | - Pt&Ir
Nol — 8 - 15 -22 —» 29 — 36 — 42 — 50.his classification belongs

to

A. Dobereiner

B. Newlands

C. Mendeleef

D. Moseley

Answer:

o Watch Video Solution

303. Differentiating electrons of some elements are as given, Na = 3s', Al =

3p1, Sc= 3d1, Ce= 4f2 Correct indication of their blocks :

A. Na = s block, Al= p - block, Sc = d- block, Ce = f block

B. Na = p - Block, Al = s- block, Sc=f- block, Ce - d - block


https://dl.doubtnut.com/l/_LD01GybXg3J5
https://dl.doubtnut.com/l/_9SmzFXqUNq6I

C.Na =p -block, Al =d - block Sc ='s - block: Ce = f- block

D. Na =f - block, Al =d - block Sc = p block, Ce = s- block

Answer:

° Watch Video Solution

304. 11y, 1s% 25 2p° 3s'. i) It is a s- block element, ii) It's valency is ', iii)

It can easily form a positive ion

A.i,ii are true

C.i,iii are true

D. All are true

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_9SmzFXqUNq6I
https://dl.doubtnut.com/l/_2nL2UlotvFab
https://dl.doubtnut.com/l/_1ba2EaLvHSsz

305. Sc =15%25%2p° 3523p%s 45%3d ! this is belongs to

A. s-block
B. p- block
C.d- block

D. f- block

Answer:

° Watch Video Solution

306. B, Si, Ge, As are:

A. 1. Metals

B. 2. Metalloids

C. 3. Non-metals

D. 4. We can't say


https://dl.doubtnut.com/l/_1ba2EaLvHSsz
https://dl.doubtnut.com/l/_PqXX36bQJAg7

Answer:

° Watch Video Solution

307. Carbon and Nitrogen belongs to _ groups respectively

A6&7
B.13& 14
C.14 & 15

D.15& 16

Answer:

° Watch Video Solution

308. Consider the following changes

+2 +3 =
My — M) +e

+ +2 -
b) M(g) — M(g) +e


https://dl.doubtnut.com/l/_PqXX36bQJAg7
https://dl.doubtnut.com/l/_oGxzVaiCyF5F
https://dl.doubtnut.com/l/_6XVa7P5Qif8V

+3 -
d) M, — M3 + 3e

In Which case more energy is required

A IE,
B. IE,
C.IE;

D. None

Answer:

o Watch Video Solution

309. Between 11 Na and 17C1, which one has more ionization energy ?

A. _11Nagt _17CI

B. _11Na It 17CI

C. _11Na= _17CI1

D.AorB


https://dl.doubtnut.com/l/_6XVa7P5Qif8V
https://dl.doubtnut.com/l/_znPaZSh3B6T8

Answer:

° Watch Video Solution

310. Which one is true ?
i) More nuclear charge, more ionization energy.
ii) More screening effect, less ionization energy.
iii) More atomic radius, more ionization energy.
A 1 (i) &(ii)
B. 2. (ii) & (iii)
C. 3. (i) &(iii)

D. 4. (i), (i) & (iii)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_znPaZSh3B6T8
https://dl.doubtnut.com/l/_3Zqf7CEw60sb

311. Penetration power towards nucleus of various orbitals are

4s > 4p > 4d > 4f. which one has more penetration power between

12Mg and {3AI?

A. BegtB

B.BeltB

C.Be=B

D. None

Answer:

o Watch Video Solution

312. Electron affinity values in (KJmol ™) F(-328), Cl-(349), Br(-325), I(-295)
i) Electron gain enthalpy decreases as we go down in group.

ii) Electron gain enthalpy decreases as we go left to right in period.

A. 1. (i) is true


https://dl.doubtnut.com/l/_j4PJGi33pVA4
https://dl.doubtnut.com/l/_M1uMT8PMOFYk

B. 2. (ii) is true

C.3.(i) & (ii) are true

D. 4. (i) & (ii) are false

Answer:

o Watch Video Solution

313. F(4.0), Cl(3.0), Li(1.0), Be (1.47)
Electronegativity values are given in the brackets then,
(i) Metals generally shows high electronegative character.
ii) Metals are electropositive elements
A. 1. (i) is true
B. 2. (ii) is true
C.3.(i) & (ii) are true

D.4. (i) & (ii) are false


https://dl.doubtnut.com/l/_M1uMT8PMOFYk
https://dl.doubtnut.com/l/_jJmMFZGbued1

Answer:

° Watch Video Solution

314. B, Si, Ge, As are:

A. (i) is true

B. middle

C. bottom

D. no metalloids

Answer:

° Watch Video Solution

315. Element with electronic configuration:
1% 25% 2p° 3s% 3p° 3d'0 4s® 4p° 55 5p® belongs to the _ period of

periodic table



https://dl.doubtnut.com/l/_jJmMFZGbued1
https://dl.doubtnut.com/l/_9EYVWLossUwJ
https://dl.doubtnut.com/l/_S3xOoLPa9GCH

A.1.3rd

B. 2.5th

C.3.7th

D.4.2nd

Answer:

° Watch Video Solution

316. In the 5'h period the orbitals being filled are

A. 5s, 5p, 5d
B. 5s, 4p, 5p
C. 5s, 5p, 5f

D. 5s, 5d, 5f

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_S3xOoLPa9GCH
https://dl.doubtnut.com/l/_CD945UOkwOaD

317. Which of the following has both members from the same period of

the periodic table

A. Li, Be, Cr

B. Al, Si, Ag

C.K, Ca, Co

D.N, O, Br

Answer:

o Watch Video Solution

318. Which of the following is an element in 3"d period Il group

A. Mg

B. Cl

C.Ca


https://dl.doubtnut.com/l/_CD945UOkwOaD
https://dl.doubtnut.com/l/_Hqx0RaGJlV3Q
https://dl.doubtnut.com/l/_RZHLkPQ5duGv

D.K

Answer:

° Watch Video Solution

319. The metallic character is high among the following

A 1.Si

B.2.C

C.3.B

D. 4. Al

Answer:

° Watch Video Solution

320. The group in which all elements are gases is


https://dl.doubtnut.com/l/_RZHLkPQ5duGv
https://dl.doubtnut.com/l/_7xGwIWMKvVG2
https://dl.doubtnut.com/l/_GgC5Y2B8YqkF

A.VIA

C.IVB

D. VIIA

Answer:

o Watch Video Solution

321. The element with atomic number 7 is found in

A. 1°t period IA group

B. 2"d group VA group

C. 2"d period IlIA group

D. 2"d period IVA group

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_GgC5Y2B8YqkF
https://dl.doubtnut.com/l/_xOxP9AOrDxoK

322. What is the similarity in the properties of beryllium and aluminium?

Write the reasons for the similarity.

A. scandium

B. gallium

C. germanium

D. venedium

Answer:

o Watch Video Solution

323. The element with electronic configuration 2, 8, 8, 3 belongs to

block

B.p


https://dl.doubtnut.com/l/_xOxP9AOrDxoK
https://dl.doubtnut.com/l/_vpIQvpXnRDlf
https://dl.doubtnut.com/l/_cXTtuJ8dza84

C.d

D.f

Answer:

o Watch Video Solution

324. The most electronegative element is

A. Chlorine

B. Nitrogen

C. Fluorine

D. Oxygen

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_cXTtuJ8dza84
https://dl.doubtnut.com/l/_Hsus8UOvSWXK

325. Among the following most electropositive element is

A. Hydrogen

B. Fluorine

C.Barium

D. Cesium

Answer:

° Watch Video Solution

326. Identfy the metalloid :

A. Carbon

B. Nitrogen

C.Sodium

D. Germanium


https://dl.doubtnut.com/l/_Nf8uV5OgjKJG
https://dl.doubtnut.com/l/_6MP5B8bPnV7O

Answer:

° Watch Video Solution

327. _ is a metal.

A. Hydrogen

B. Bromine

C.Silicon

D. Sodium

Answer:

° Watch Video Solution

328.  is IlIA group element.

A. Sodium


https://dl.doubtnut.com/l/_6MP5B8bPnV7O
https://dl.doubtnut.com/l/_bknPHGhFwWmC
https://dl.doubtnut.com/l/_7iqHVjONsdkJ

B. Magnesium

C.Boron

D. Carbon

Answer:

° Watch Video Solution

329. Number of elements in 6th period of modern periodic table is

A.8

B.18

C.32

D.2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_7iqHVjONsdkJ
https://dl.doubtnut.com/l/_qPVG8vZ8Ijue

330. Noble gases Belong to

A. 7th group

B. 10th

C.10th group

D. 0 group or 18th group

Answer:

group of periodic table .

o Watch Video Solution

331.Br belongs to__ family.

A. halogen

B. alkali

C. oxygen

D. chalcogen



https://dl.doubtnut.com/l/_qPVG8vZ8Ijue
https://dl.doubtnut.com/l/_4VwOnjiGm5Pj
https://dl.doubtnut.com/l/_yLHHHXnrqMuD

Answer:

° Watch Video Solution

332. The element Mn belongs to block.

B.p

C.d

D.f

Answer:

° Watch Video Solution

333. Metals are at side of the periodic table.

A. left


https://dl.doubtnut.com/l/_yLHHHXnrqMuD
https://dl.doubtnut.com/l/_Wjzba66IuHSw
https://dl.doubtnut.com/l/_qRuuQChvJsSO

B. top

C. bottom

D.right

Answer:

° Watch Video Solution

334. Newlands dissimilar elements are

A. Copper & cobalt

B. Tin & nickel

C. Cobalt & nickel

D. (i) , (i) & (iii)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_qRuuQChvJsSO
https://dl.doubtnut.com/l/_AgB18wBQP2iN
https://dl.doubtnut.com/l/_Ap6kMLHabASJ

335. Block elements are only metals.

B.p

C.d

D. Tin & cobalt

Answer:

° Watch Video Solution

336.  block elements contains non-metals, metals and metalloids.

B.p

C.d

D.f


https://dl.doubtnut.com/l/_Ap6kMLHabASJ
https://dl.doubtnut.com/l/_T0IkRWKYN2im

Answer:

o Watch Video Solution

337.Si and Ge are

B.p

C.d

D.f

Answer:

o Watch Video Solution

338. What is a triad?

A. Li, Na, K


https://dl.doubtnut.com/l/_T0IkRWKYN2im
https://dl.doubtnut.com/l/_600cIAg5PaA5
https://dl.doubtnut.com/l/_XWttQWb1UmqV

B. Cu, Ag, Au

C.S5,Se,Te

D.Cl,Br, |

Answer:

° Watch Video Solution

339. Which pair of elements belongs to the same group ? (atomic

numbers are given)

A.17,38

B. 20,40

C.17,53

D. 11,53

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_XWttQWb1UmqV
https://dl.doubtnut.com/l/_BrP1iv6wIiTl

340. Correct order of first ionisation potentials

Al gt '™+ gt 1)’

B.1gt'I" gt 'I"(+)'

C.IM gt IN(-) gt |

D.1"(-)' gt I gt "I1"+'

Answer:

o Watch Video Solution

341. Among the following, the period that contains solid, liquid and
gaseous elements is

A.VII B

B.VII A

C.VIII A


https://dl.doubtnut.com/l/_BrP1iv6wIiTl
https://dl.doubtnut.com/l/_RLunsI0Hjt7G
https://dl.doubtnut.com/l/_14WRx8kBI7Lq

D. Vil B

Answer:

° Watch Video Solution

342. Electonic configuration of an atom is 2,8,7, . To which of the following

elements would would it be chemically similar ?

A. Nitrogen (Z=7)

B. Fluorine ( Z=9)

C. Phosphorus (Z =15)

D. Argon (Z=18)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_14WRx8kBI7Lq
https://dl.doubtnut.com/l/_VF2M9D8nGTlv

343. Which of the following atomic numbers belongs to same period ?

A.5,6,7

B.1,3,5

C.2,4,6

D.9,17,35

Answer:

o Watch Video Solution

344.The scientist____is appreciable because his attempts gave a clue that
atomic weights could be correlated with properties of elements and led
to rigorous classification of elements and the modern periodic table of

elements.

A. 1. Dobereiner

B. 2. Newlands


https://dl.doubtnut.com/l/_TCzSb5cGLFUz
https://dl.doubtnut.com/l/_kRmElMxa3J2i

C. 3. Mendeleeff

D. 4. Robert Boyle

Answer:

° Watch Video Solution

345.  was honoured and named the 101th element.

A. Dobereiner

B. Newlands

C. Mendeleeff

D. Bohr

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_kRmElMxa3J2i
https://dl.doubtnut.com/l/_n0ojAp2CV11d

346. Mendeleeff is appreciable because, he is more than any one else as

the originator of the

A. 1. Triad.

B. 2. Periodic law

C. 3. Octaves

D. 4. Electronic configuration

Answer:

o Watch Video Solution

347. The atomic number concept forced the periodic law to be changed

and finally modern periodic table was prepared. For this work is

appreciable.

A. 1. Dobereiner

B. 2. Newlands


https://dl.doubtnut.com/l/_jo84wwy6GBER
https://dl.doubtnut.com/l/_5bsILAWIPVGw

C. 3. Mendeleef

D. 4. Moseley

Answer:

° Watch Video Solution

348, - Played a great role in the preparation of modern

periodic table

A. 1. Atomic weight

B. 2. Atomic number

C. 3. atomic density

D. 4. atomic size

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_5bsILAWIPVGw
https://dl.doubtnut.com/l/_0rBYKGkSpIJy
https://dl.doubtnut.com/l/_sUDvxwNPNdQJ

349.The first attempt to classify the elements was made by :

A. Mendeleeff

B. John Newlands

C. Johann Wolfgang Dobereiner

D. Moseley

Answer:

o Watch Video Solution

350. The name of 101th elements is__

A. borolinium

B. lanthanivium

C. mendelivium

D. scandinavium


https://dl.doubtnut.com/l/_sUDvxwNPNdQJ
https://dl.doubtnut.com/l/_Bg7qqlrzLmJy

Answer:

° Watch Video Solution

351. The atomic weight of 'Be' is____ if the equivalent weight of Be is 4.5

and its valency is 2.

A 45

B.9

C.2.75

D.25

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Bg7qqlrzLmJy
https://dl.doubtnut.com/l/_l6tql9jK2Vfl

